



IDENTITIES AND INEQUALITIES FOR SUMS INVOLVING BINOMIAL COEFFICIENTS

Horst Alzer

Morsbacher Straße 10, Waldbröl, Germany
h.alzer@gmx.de

Helmut Prodinger

Mathematics Department, Stellenbosch University, Stellenbosch, South Africa
hproding@sun.ac.za

Received: 3/26/19, Accepted: 1/13/20, Published: 1/22/20

Abstract

We present identities and inequalities for sums involving the partial sums of binomial coefficients. One of our results states that

$$T_n = \sum_{k=0}^n \binom{n}{k} k \sum_{j=0}^k \binom{n}{j} = n2^{2n-2} + \frac{n}{2} \binom{2n}{n} \quad (n = 0, 1, 2, \dots),$$

$$\sqrt{T_{n-1}T_{n+1}} < T_n < \frac{T_{n-1} + T_{n+1}}{2} \quad (n = 1, 2, 3, \dots)$$

and

$$T_m + T_n \leq T_{m+n} \quad (m, n = 0, 1, 2, \dots)$$

with equality if and only if $m = 0$ or $n = 0$.

1. Introduction and Statement of Main Results

In 1994, Calkin [2] presented an interesting identity of sums of powers of the partial sums of binomial coefficients:

$$\sum_{k=0}^n \left(\sum_{j=0}^k \binom{n}{j} \right)^3 = n2^{3n-1} + 2^{3n} - 3n2^{n-2} \binom{2n}{n}. \quad (1)$$

This result attracted the attention of several mathematicians who discovered new proofs as well as various extensions and variants of (1). We refer to [3], [5], [13], [16] and the references cited therein.

Our work is inspired by three remarkable papers published by Hirschhorn [6], Wang and Zhang [12] and Zhang [14]. Among others, these authors offered identities for the following sums which are related to Calkin’s sum given in (1):

$$\begin{aligned}
 A_n &= \sum_{k=0}^n \sum_{j=0}^k \binom{n}{j}, & A_n^* &= \sum_{k=0}^n (-1)^k \sum_{j=0}^k \binom{n}{j}, \\
 B_n &= \sum_{k=0}^n \left(\sum_{j=0}^k \binom{n}{j} \right)^2, & B_n^* &= \sum_{k=0}^n (-1)^k \left(\sum_{j=0}^k \binom{n}{j} \right)^2, \\
 C_n &= \sum_{k=0}^n k \sum_{j=0}^k \binom{n}{j}, & D_n &= \sum_{k=0}^n k \left(\sum_{j=0}^k \binom{n}{j} \right)^2.
 \end{aligned}$$

They proved that for $n \geq 1$ we have

$$A_n = (n + 2)2^{n-1}, \quad A_n^* = (-1)^n 2^{n-1}, \tag{2}$$

$$B_n = (n + 2)2^{2n-1} - \frac{n}{2} \binom{2n}{n}, \tag{3}$$

$$B_n^* = 2^{2n-1}, \quad \text{if } n \text{ is even,} \tag{4}$$

$$B_n^* = -2^{2n-1} + (-1)^{(n+1)/2} \binom{n-1}{(n-1)/2}, \quad \text{if } n \text{ is odd,} \tag{5}$$

$$C_n = n(3n + 5)2^{n-3}, \tag{6}$$

$$D_n = n(3n + 5)2^{2n-3} - \frac{(n-1)n}{4} \binom{2n}{n}. \tag{7}$$

With regard to these identities it is natural to ask for similar results for the alternating sums

$$C_n^* = \sum_{k=0}^n (-1)^k k \sum_{j=0}^k \binom{n}{j} \quad \text{and} \quad D_n^* = \sum_{k=0}^n (-1)^k k \left(\sum_{j=0}^k \binom{n}{j} \right)^2.$$

We have $C_1^* = -2$ and for $n \geq 2$,

$$\begin{aligned}
 C_n^* &= \sum_{j=0}^n \binom{n}{j} \sum_{k=j}^n (-1)^k k = \sum_{j=0}^n \binom{n}{j} \left[(-1)^n \left(\frac{n}{2} + \frac{1}{4} \right) + (-1)^j \left(\frac{j}{2} - \frac{1}{4} \right) \right] \\
 &= (-1)^n (2n + 1) 2^{n-2}.
 \end{aligned} \tag{8}$$

The problem to find a corresponding identity for D_n^* is a bit more difficult. Our first theorem presents the solution.

Theorem 1. For all natural numbers n we have

$$D_n^* = (2n + 1)4^{n-1} + (-1)^{(n+2)/2}(n + 1) \binom{n-2}{(n-2)/2}, \quad \text{if } n \text{ is even,} \quad (9)$$

and

$$D_1^* = -4, \quad D_n^* = -(2n+1)4^{n-1} + (-1)^{(n+1)/2} \frac{n-1}{2} \binom{n-1}{(n-1)/2}, \quad \text{if } n \geq 3 \text{ is odd.} \quad (10)$$

In what follows, we study the four sums which we obtain from A_n , A_n^* , C_n and C_n^* by inserting the factor $\binom{n}{k}$ behind the first summation sign, that is,

$$S_n = \sum_{k=0}^n \binom{n}{k} \sum_{j=0}^k \binom{n}{j}, \quad S_n^* = \sum_{k=0}^n (-1)^k \binom{n}{k} \sum_{j=0}^k \binom{n}{j},$$

$$T_n = \sum_{k=0}^n \binom{n}{k} k \sum_{j=0}^k \binom{n}{j}, \quad T_n^* = \sum_{k=0}^n (-1)^k \binom{n}{k} k \sum_{j=0}^k \binom{n}{j}.$$

We show that each of the four sums can be expressed in terms of the central binomial coefficient $\binom{2N}{N}$. The next result offers counterparts of the two identities given in (2).

Theorem 2. For all nonnegative integers n we have

$$S_n = 2^{2n-1} + \frac{1}{2} \binom{2n}{n} \quad (11)$$

and

$$S_0^* = 1, \quad S_n^* = \frac{(-1)^{n/2}}{2} \binom{n}{n/2}, \quad \text{if } n \geq 2 \text{ is even,} \quad (12)$$

$$S_n^* = (-1)^{(n+1)/2} \binom{n-1}{(n-1)/2}, \quad \text{if } n \text{ is odd.} \quad (13)$$

The following theorem provides counterparts of (6) and (8).

Theorem 3. For all nonnegative integers n we have

$$T_n = n2^{2n-2} + \frac{n}{2} \binom{2n}{n} \quad (14)$$

and

$$T_0^* = 0, \quad T_n^* = (-1)^{(n+2)/2} 2 \binom{n-2}{(n-2)/2}, \quad \text{if } n \geq 2 \text{ is even,} \quad (15)$$

$$T_1^* = -2, \quad T_n^* = (-1)^{(n+1)/2} n \binom{n-1}{(n-1)/2}, \quad \text{if } n \geq 3 \text{ is odd.} \quad (16)$$

From (3), (7), (11) and (14) we conclude that the sums B_n , D_n , S_n and T_n are connected by the identities

$$S_n - \frac{1}{n}T_n = \frac{B_n + T_n}{3n + 4} = \frac{2D_n - (n - 1)B_n}{n^2 + 3n + 4} = 4^{n-1} \quad (n = 1, 2, 3, \dots).$$

Identities for sums and their alternating relatives can be used to obtain identities for sums, where the summation index runs over only even and over only odd integers, respectively. For example, from (11), (12) and (13) we get

$$\sum_{\substack{k=0 \\ k \text{ even}}}^n \binom{n}{k} \sum_{j=0}^k \binom{n}{j} = \frac{S_n + S_n^*}{2} = 4^{n-1} + \frac{1}{4} \binom{2n}{n} + \sigma_n \quad (n = 1, 2, 3, \dots),$$

where

$$\begin{aligned} \sigma_n &= \frac{1}{4}(-1)^{n/2} \binom{n}{n/2}, \quad \text{if } n \text{ is even, and} \\ \sigma_n &= \frac{1}{2}(-1)^{(n+1)/2} \binom{n-1}{(n-1)/2}, \quad \text{if } n \text{ is odd.} \end{aligned}$$

We apply (11) and (14) to prove that the sequences $(S_n)_{n \geq 0}$ and $(T_n)_{n \geq 0}$ satisfy certain convexity/concavity and superadditive properties.

Theorem 4. *The sequence $(S_n)_{n \geq 0}$ is strictly log-convex, that is, we have*

$$S_n < \sqrt{S_{n-1}S_{n+1}} \quad (n = 1, 2, 3, \dots). \tag{17}$$

Moreover, $(\log S_n)_{n \geq 0}$ is superadditive, that is,

$$S_m S_n \leq S_{m+n} \quad (m, n = 0, 1, 2, \dots). \tag{18}$$

Equality holds in (18) if and only if $m = 0$ or $n = 0$.

We show next that T_n separates the geometric and arithmetic means of T_{n-1} and T_{n+1} .

Theorem 5. *The sequence $(T_n)_{n \geq 0}$ is strictly log-concave, strictly convex and superadditive, that is, we have*

$$\sqrt{T_{n-1}T_{n+1}} < T_n < \frac{T_{n-1} + T_{n+1}}{2} \quad (n = 1, 2, 3, \dots) \tag{19}$$

and

$$T_m + T_n \leq T_{m+n} \quad (m, n = 0, 1, 2, \dots). \tag{20}$$

Equality holds in (20) if and only if $m = 0$ or $n = 0$.

From (17)–(20) we conclude that the following double-inequalities are valid for all $n \geq 1$:

$$S_n^2 < S_{n-1}S_{n+1} \leq S_{2n} \quad \text{and} \quad 2T_n < T_{n-1} + T_{n+1} \leq T_{2n}.$$

The sign of equality is valid if and only if $n = 1$.

In the next section, we establish the identities presented in Theorems 1, 2 and 3. In Section 3, we collect a few lemmas which we need to prove the inequalities (17)–(20). The proofs of Theorems 4 and 5 are given in Section 4. Throughout, we maintain the notations introduced in this section.

2. Proofs of Theorems 1, 2, and 3

In order to prove the identities for D_n^* , S_n , S_n^* and T_n we use an elementary unified approach, whereas the proof of the identity for T_n^* makes use of techniques from Complex Analysis. More precisely, we apply an integral formula given by Hautus and Klarner [4] in 1971. We remark that the Hautus–Klarner method can also be applied to establish the other identities.

To prove Theorem 1 we need the identities (15) and (16) stated in Theorem 3. Therefore, first we establish Theorems 2 and 3.

Proofs of (11), (12), (13) and (14). Let $k \geq 0$ and $n \geq 0$ be integers. We define

$$X_{k,n} = \sum_{j=0}^k \binom{n}{j}, \quad Y_n = \sum_{k=0}^n \delta_k X_{k,n}^2,$$

where $(\delta_k)_{k \geq 0}$ are complex numbers. Using

$$\binom{n+1}{j} = \binom{n}{j-1} + \binom{n}{j}$$

we find

$$X_{k,n+1} = X_{k-1,n} + X_{k,n}.$$

Moreover, we have

$$X_{n+1,n} = X_{n,n} = 2^n \quad \text{and} \quad X_{k-1,n} = X_{k,n} - \binom{n}{k}.$$

Applying these relations we obtain

$$Y_{n+1} = \sum_{k=0}^{n+1} \delta_k X_{k,n+1}^2 = \sum_{k=0}^{n+1} \delta_k (X_{k-1,n} + X_{k,n})^2$$

$$\begin{aligned}
 &= \sum_{k=0}^n (\delta_k + \delta_{k+1}) X_{k,n}^2 + 2^{2n} \delta_{n+1} + 2 \sum_{k=0}^{n+1} \delta_k X_{k-1,n} X_{k,n} \\
 &= \sum_{k=0}^n (\delta_k + \delta_{k+1}) X_{k,n}^2 + 2^{2n} \delta_{n+1} + 2 \sum_{k=0}^{n+1} \delta_k \left(X_{k,n} - \binom{n}{k} \right) X_{k,n} \\
 &= \sum_{k=0}^n (3\delta_k + \delta_{k+1}) X_{k,n}^2 - 2 \sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} + 3 \cdot 2^{2n} \delta_{n+1} \\
 &= 3Y_n + \sum_{k=0}^n \delta_{k+1} X_{k,n}^2 - 2 \sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} + 3 \cdot 2^{2n} \delta_{n+1}.
 \end{aligned}$$

This leads to

$$\sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} = \frac{3}{2} Y_n - \frac{1}{2} Y_{n+1} + 3 \cdot 2^{2n-1} \delta_{n+1} + \frac{1}{2} \sum_{k=0}^n \delta_{k+1} X_{k,n}^2. \tag{21}$$

We consider three cases.

Case 1. $\delta_k = 1$.

Then,

$$\sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} = S_n \quad \text{and} \quad Y_n = B_n. \tag{22}$$

Applying (21) and (22) gives

$$S_n = 2B_n - \frac{1}{2} B_{n+1} + 3 \cdot 2^{2n-1}. \tag{23}$$

From (3) and (23) we conclude that (11) is valid.

Case 2. $\delta_k = (-1)^k$.

We have

$$\sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} = S_n^* \quad \text{and} \quad Y_n = B_n^*, \tag{24}$$

so that (21) and (24) imply

$$S_n^* = B_n^* - \frac{1}{2} B_{n+1}^* + (-1)^{n+1} 3 \cdot 2^{2n-1}. \tag{25}$$

We apply (4), (5) and (25). This yields (12) and (13).

Case 3. $\delta_k = k$.

Then,

$$\sum_{k=0}^n \binom{n}{k} \delta_k X_{k,n} = T_n \quad \text{and} \quad Y_n = D_n. \tag{26}$$

Using (21) and (26) gives

$$T_n = 2D_n - \frac{1}{2} D_{n+1} + \frac{1}{2} B_n + 3(n+1)2^{2n-1}. \tag{27}$$

Finally, we apply (13), (17) and (27). This leads to (14).

Proofs of (15) and (16). We define

$$T_{m,n}^* = \sum_{k=0}^m (-1)^k \binom{m}{k} k \sum_{j=0}^k \binom{n}{j} = \sum_{0 \leq j \leq k} (-1)^k k \binom{m}{k} \binom{n}{j}$$

and

$$F(x, y) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} T_{m,n}^* x^m y^n.$$

In what follows, we assume that x, y, z are sufficiently small real numbers. Let $a = x/(x - 1)$ and $b = ay/(1 - y)$. Using

$$\sum_{n=j}^{\infty} \binom{n}{j} t^n = \frac{t^j}{(1 - t)^{j+1}}$$

and

$$\sum_{n=j}^{\infty} nt^n = \frac{1}{1 - t} \left(j + \frac{t}{1 - t} \right) t^j \quad (|t| < 1; j = 0, 1, 2, \dots)$$

we obtain

$$\begin{aligned} F(x, y) &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \sum_{0 \leq j \leq k} (-1)^k k \binom{m}{k} \binom{n}{j} x^m y^n \\ &= \sum_{0 \leq j \leq k} \sum_{m \geq k} x^m (-1)^k k \binom{m}{k} \sum_{n \geq j} \binom{n}{j} y^n \\ &= \sum_{0 \leq j \leq k} \sum_{m \geq k} x^m (-1)^k k \binom{m}{k} \frac{y^j}{(1 - y)^{j+1}} \\ &= \sum_{0 \leq j \leq k} (-1)^k k \frac{x^k}{(1 - x)^{k+1}} \frac{y^j}{(1 - y)^{j+1}} \\ &= \frac{1}{(1 - x)(1 - y)(1 - a)} \sum_{j \geq 0} \left(j + \frac{a}{1 - a} \right) b^j \\ &= \frac{1}{(1 - x)(1 - y)(1 - a)} \left(\frac{1}{1 - b} \frac{b}{1 - b} + \frac{a}{1 - a} \frac{1}{1 - b} \right) \\ &= \frac{x(x - 1)(2xy - x + 1)}{(2xy - x - y + 1)^2}. \end{aligned}$$

Let

$$f_z(s) = \frac{1}{s} F(s, z/s) = -\frac{(s - 1)(s - 2z - 1)s^2}{(s^2 - (2z + 1)s + z)^2}.$$

The function f_z has double poles at

$$s_1 = z + \frac{1}{2} + \frac{1}{2}\sqrt{4z^2 + 1} \quad \text{and} \quad s_2 = z + \frac{1}{2} - \frac{1}{2}\sqrt{4z^2 + 1}.$$

A theorem of Hautus and Klarner [4] states that

$$\frac{1}{2\pi i} \int_C f_z(s) ds = \sum_{n=0}^{\infty} T_{n,n}^* z^n, \tag{28}$$

and from the residue theorem we obtain

$$\frac{1}{2\pi i} \int_C f_z(s) ds = \text{Res}_{s=s_2} f_z(s). \tag{29}$$

Here, C is a positively oriented circle with center s_2 and sufficiently small radius. We set $c_n = 4^n \binom{-3/2}{n}$. Then,

$$\begin{aligned} \text{Res}_{s=s_2} f_z(s) &= \frac{z(8z^3 + 2z - 1)}{(4z^2 + 1)^{3/2}} - z \\ &= 8 \sum_{n=0}^{\infty} c_n z^{2n+4} + 2 \sum_{n=0}^{\infty} c_n z^{2n+2} - \sum_{n=0}^{\infty} c_n z^{2n+1} - z \\ &= -2z + 2 \sum_{n=1}^{\infty} (c_{n-1} + 4c_{n-2}) z^{2n} - \sum_{n=1}^{\infty} c_n z^{2n+1}. \end{aligned} \tag{30}$$

We have $T_n^* = T_{n,n}^*$, so that (28), (29) and (30) yield

$$T_0^* = 0, \quad T_{2n}^* = 2(c_{n-1} + 4c_{n-2}) = (-1)^{n-1} 2 \binom{2n-2}{n-1} \quad (n = 1, 2, 3, \dots)$$

and

$$T_1^* = -2, \quad T_{2n+1}^* = -c_n = (-1)^{n-1} (2n+1) \binom{2n}{n} \quad (n = 1, 2, 3, \dots).$$

This leads to (15) and (16).

Proofs of (9) and (10). From (21) with $\delta_k = (-1)^k k$ we obtain

$$T_n^* = -\frac{1}{2} B_n^* + D_n^* - \frac{1}{2} D_{n+1}^* + (-1)^{n+1} 3(n+1) 2^{2n-1}. \tag{31}$$

Since

$$X_{k,n+1} = 2X_{k,n} - \binom{n}{k},$$

we get

$$\begin{aligned} D_{n+1}^* &= \sum_{k=0}^n (-1)^k k \left(4X_{k,n}^2 - 4 \binom{n}{k} X_{k,n} + \binom{n}{k}^2 \right) + (-1)^{n+1} (n+1) 2^{2n+2} \\ &= 4D_n^* - 4T_n^* + R_n + (-1)^{n+1} (n+1) 2^{2n+2}, \end{aligned} \tag{32}$$

where

$$R_n = \sum_{k=0}^n (-1)^k k \binom{n}{k}^2.$$

The sum R_n can be expressed in terms of the classical Legendre polynomials P_n :

$$R_n = (-1)^n 2^{n-1} (nP_n(0) + P'_n(0));$$

see [8, section 1.2.7]. We obtain

$$R_n = (-1)^{n/2} \frac{n}{2} \binom{n}{n/2}, \quad \text{if } n \text{ is even,} \tag{33}$$

$$R_n = (-1)^{(n+1)/2} n \binom{n-1}{(n-1)/2}, \quad \text{if } n \text{ is odd.} \tag{34}$$

Next, we replace in (31) D_{n+1}^* by the expression given in (32) and find

$$D_n^* = T_n^* - \frac{1}{2} B_n^* - \frac{1}{2} R_n + (-1)^n (n+1) 2^{2n-1}. \tag{35}$$

Finally, we use (4), (5), (15), (16), (33) and (34). Then we conclude from (35) that (9) and (10) are valid.

3. Lemmas

Our first lemma offers a known property of log-convex functions; see [11, p. 19].

Lemma 1. *If f is log-convex and g is strictly log-convex, then $f + g$ is strictly log-convex.*

Remark. If f and g are twice differentiable, then Lemma 1 can be proved by using the formula

$$(\log(f + g))'' = \frac{f(\log f)''}{f + g} + \frac{g(\log g)''}{f + g} + \frac{(fg' - f'g)^2}{fg(f + g)^2}.$$

The following elegant functional inequality for convex functions is due to Petrović [10]; see also [9, section 1.4.7].

Lemma 2. *Let f be strictly convex on $[0, \infty)$. Then, for $x, y \geq 0$,*

$$f(x) + f(y) \leq f(0) + f(x + y).$$

Equality holds if and only if $x = 0$ or $y = 0$.

The next lemma collects a few basic properties of the logarithmic derivative of Euler’s gamma function, $\psi = \Gamma'/\Gamma$; see [1, chapter 6].

Lemma 3. *Let $x > 0$. Then,*

$$\begin{aligned} \psi(x+1) &= \psi(x) + \frac{1}{x}, & \psi(2x) &= \frac{1}{2}\psi(x) + \frac{1}{2}\psi(x+1/2) + \log 2, \\ (-1)^{n+1}\psi^{(n)}(x) &= \int_0^\infty e^{-xt} \frac{t^n}{1-e^{-t}} dt \quad (n = 1, 2, 3, \dots). \end{aligned}$$

4. Proofs of Theorems 4 and 5

Proof of Theorem 4. Let

$$u(x) = 2^{2x-1} \quad \text{and} \quad v(x) = \frac{\Gamma(2x+1)}{2\Gamma(x+1)^2}. \tag{36}$$

Applying Lemma 3 gives for $x > 0$,

$$\begin{aligned} \frac{d^2}{dx^2} \log v(x) &= \psi'(x+1/2) - \psi'(x) + \frac{1}{x^2} \\ &= \int_0^\infty e^{-(x+1/2)t} \frac{t}{1-e^{-t}} dt - \int_0^\infty e^{-xt} \frac{t}{1-e^{-t}} dt + \int_0^\infty e^{-xt} t dt \tag{37} \\ &= \int_0^\infty e^{-xt} \frac{t}{e^{t/2} + 1} dt > 0. \end{aligned}$$

Since u is log-convex on $[0, \infty)$, we conclude from Lemma 1 that

$$w(x) = u(x) + v(x) = 2^{2x-1} + \frac{\Gamma(2x+1)}{2\Gamma(x+1)^2}$$

is strictly log-convex on $[0, \infty)$. An application of Jensen’s inequality yields

$$\log w(n) < \frac{1}{2}(\log w(n-1) + \log w(n+1)) \quad (n = 1, 2, 3, \dots)$$

and Lemma 2 gives

$$\log w(m) + \log w(n) \leq \log w(0) + \log w(m+n) = \log w(m+n) \quad (m, n = 0, 1, 2, \dots)$$

with equality if and only if $m = 0$ or $n = 0$. From (11) we obtain that for all integers $n \geq 0$ we have $w(n) = S_n$. This implies that (17) and (18) are valid.

Proof of Theorem 5. (i) First, we prove that $(T_n)_{n \geq 0}$ is strictly log-concave. Using (14) yields for $n \geq 1$,

$$\frac{T_{n+1}}{T_n} = 4 \left(1 + \frac{1}{n+1/\chi_n} \right) \tag{38}$$

with

$$\chi_n = \frac{1}{n} \left(1 + \frac{4^n}{\binom{2n}{n}} \right).$$

Let $x > 0$. We define

$$\theta(x) = \frac{4^x \Gamma(x) \Gamma(x + 1)}{\Gamma(2x + 1)}.$$

Applying Lemma 3 gives

$$\frac{d}{dx} \log \theta(x) = \psi(x) - \psi(x + 1/2) < 0.$$

Since

$$\chi_n = \frac{1}{n} + \theta(n), \quad (n = 1, 2, 3, \dots),$$

we conclude that $(\chi_n)_{n \geq 1}$ is strictly decreasing. From (38) we obtain that $(T_{n+1}/T_n)_{n \geq 1}$ is strictly decreasing. Thus, for $n \geq 2$,

$$\frac{T_{n+1}}{T_n} < \frac{T_n}{T_{n-1}}.$$

This implies that the left-hand side of (19) is valid for $n \geq 2$. By direct computation we obtain that this is also true for $n = 1$.

(ii) In order to prove that $(T_n)_{n \geq 0}$ is strictly convex, we define

$$G(x) = xh(x)$$

with

$$h(x) = 2^{2x-2} + v(x),$$

where v is defined in (36). We have

$$G''(x) = 2h'(x) + xh''(x). \tag{39}$$

An application of Lemma 3 and (37) gives for $x \geq 0$,

$$h'(x) = (\log 2)2^{2x-1} + 2v(x)[\psi(2x + 1) - \psi(x + 1)] > 0$$

and

$$h''(x) = (\log 2)^2 4^x + v(x)(\log v(x))'' + \frac{1}{v(x)}(v'(x))^2 > 0.$$

From (39) we conclude that G is strictly convex on $[0, \infty)$. Using (14) shows that $G(n) = T_n$ for all integers $n \geq 0$, so that an application of Jensen's inequality reveals that the right-hand side of (19) holds.

(iii) We apply Lemma 2 with $f = G$. Since $G(0) = 0$, we obtain for all integers $m, n \geq 0$,

$$T_m + T_n = G(m) + G(n) \leq G(m + n) = T_{m+n}$$

with equality if and only if $m = 0$ or $n = 0$.

5. Concluding Remark

R. Tauraso kindly informed us that Zhang [15] studied identities for two general classes of combinatorial sums, namely,

$$\sum_{k=0}^n f_k \sum_{j=0}^k \binom{n}{j} g_j \quad \text{and} \quad \sum_{k=0}^n f_k \left(\sum_{j=0}^k \binom{n}{j} g_j \right)^2,$$

where f_k and g_k ($k = 0, 1, \dots, n$) are real numbers. The proof of his identities is based upon an elegant application of MacMahon's Omega operator calculus; see [7]. As special cases of his results he obtained the identities (8), (10) and (13).

References

- [1] M. Abramowitz, I.A. Stegun (eds.), *Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables*, Dover, New York, 1965.
- [2] N.J. Calkin, A curious binomial identity, *Discrete Math.* **131** (1994), 335–337.
- [3] H. Feng, Z. Zhang, Combinatorial proofs of identities of Calkin and Hirschhorn, *Discrete Math.* **277** (2004), 287–294.
- [4] M.L.J. Hautus, D.A. Klarner, The diagonal of a double power series, *Duke Math. J.* **38** (1971), 229–235.
- [5] B. He, Some identities involving the partial sum of q -binomial coefficients, *Electron J. Combin.* **21(3)** (2014), #P3.17.
- [6] M. Hirschhorn, Calkin's binomial identity, *Discrete Math.* **159** (1996), 273–278.
- [7] P.A. MacMahon, *Combinatory Analysis*, 2 vols., Cambridge Univ. Press, Cambridge, 1915–1916.
- [8] G.V. Milovanović, D.S. Mitrinović, Th.M. Rassias, *Topics in Polynomials: Extremal Problems, Inequalities, Zeros*, World Sci., Singapore, 1994.
- [9] D.S. Mitrinović, *Analytic Inequalities*, Springer, New York, 1970.
- [10] M. Petrovitch, Sue une fonctionnelle, *Publ. Inst. Math. (Beograd)* **1** (1932), 149–156.
- [11] A.W. Roberts, D.E. Varberg, *Convex Functions*, Academic Press, New York, 1973.
- [12] J. Wang, Z. Zhang, On extensions of Calkin's binomial identities, *Discrete Math.* **274** (2004), 331–342.
- [13] Z. Zhang, A binomial identity related to Calkin's, *Discrete Math.* **196** (1999), 287–289.
- [14] Z. Zhang, A kind of binomial identity, *Discrete Math.* **196** (1999), 291–298.
- [15] Z. Zhang, On a kind of curious binomial identity, *Discrete Math.* **306** (2006), 2740–2754.
- [16] Z. Zhang, X. Wang, A generalization of Calkin's identity, *Discrete Math.* **308** (2008), 3992–3997.